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L , agree to neither give nor receive any help on this

exam from others. I understand that the use of a calculator or communication device on
this exam is academic misconduct. I also understand that providing answers to questions
on this exam to other students is academic misconduct, as is taking or receiving answers
to questions on this exam from other students. Thus, I will cover my answers and not
expose my answers to other students. It is important to me to be a person of integrity and
that means ALL ANSWERS on this exam are my answers. Any violation of these

guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

I. Binary Choice Questions (12 questions worth 3 points each)

1) Consider the statement: “An increase in import taxes will increase retail prices and the
costs of production.” This statement is an example of:

a. Normative Analysis.
b. Positive Analysis.

2) Sam Seaborn is a speech writer. Seaborn can produce 5 speeches (S) in one day if he
receives 3 bars of gold. It is also known that, for each extra bar of gold received, Sam
produces a third of a speech. The equation that describes Sam’s offer of speeches in
terms of bars of gold (G) is:

a. S=(1/3)*G+4
b. S=3*G+4



3) Given the PPF in the figure below, which of the following statements is true?

Milk

»

Bread

a. The opportunity cost of bread increases when moving along the curve from
point A to point B.

b. The opportunity cost of bread decreases when moving along the curve from
point A to point B.

4) Indicate which option is correct:

a. Consider the market for domestic steel: trade agreements result in fewer
consumers of domestic steel at the same time that the trade agreement calls for
domestic steel workers to receive higher wages. Given these two changes and
holding everything else constant, then the new equilibrium quantity in this
market is ambiguous and the new equilibrium price of steel is higher than the
initial price of steel.

b. Holding everything else constant, a change in the price of the good X will
cause a movement along the demand and supply curves for good X while an
increase in GDP per capita in a country will cause the demand curve for good
X to shift.

5) The price of beer is expected to go down in the future. Holding everything else
constant:

a. This causes a movement along the demand curve for beer.
b. This causes a shift in the demand curve for beer.



6) Suppose that construction companies in the United States import cement from China
as an input in their production. The price of fly ash, a substitute for cement, has
recently surged in China because of the disruptions in their supply lines for this
product. Given this information and holding everything else constant, you predict that
these changes will lead the supply curve for the US construction industry to:

a. Shift to the right.
b. Shift to the left.

7) The price of a good increased during the recent Great Recession of 2008. Given this
information and holding everything else constant, we conclude that the good is:

a. A normal good.
b. An inferior good.

8) Suppose that eggs and bread are complements. The outbreak of Al (avian influenza)
diseases resulted in the slaughter of many infected chickens. People believe that Al
does not affect the quality or safety of the eggs produced by chickens. Given this
information and holding everything else constant, the price of bread will:

a. Increase.
b. Decrease.
9) The implementation of an effective price floor program in the market for apples will

cause the that consumers pay and producers receive to

a. Price; Increase
b. Quantity; Increase



10) Consider the market for corn with a linear downward sloping demand curve and a
linear upward sloping supply curve. Under an effective government subsidy, or price
guarantee program, what happens to the price consumers pay and that quantity that
consumers purchase, compared to the market without the program?

a. The price consumers pay will decrease while the quantity they consume will
increase with this program.

b. The price consumers pay will increase while the quantity they consume will
decrease with this program.

11) Consider a market with an upward sloping supply curve and a downward sloping
demand curve. Suppose that an effective price ceiling is implemented by the
government into this market. This effective price ceiling will:

a. Decrease the producer surplus.
b. Result in an excess supply of the good.

12) A market for a good is initially in equilibrium. Then people's incomes rise while at
the same time the number of firms producing this product increase. If you are told
that the new equilibrium price is definitely lower than the initial equilibrium price,
then it must be the case that this good is a(n):

a. Normal good.
b. Inferior good.



I1. Multiple Choice Questions (20 questions worth 5 points each)

13) Which of the following statements is true?

a. If we shift the line y = 3*x — 10, two units to the right we get the line y = 3*x — 8.

b. If we shift the line y = 3*x — 10, two units to the right we get the line y = 3*x — 12
and the equation in x-intercept form is x =4 + y/3.

c. Suppose that the supply curve is initially given as Q = (1/3)P — (10/3). If the costs
of producing the good increases by $4 per unit then the new supply curve is Q =
(1/3)P — (14/3).

d. Suppose the line y = 3*x — 1 shifts 2 units to the left. This new line intersects the
line y = 2/3 —x/5 when y = 10/3.

14) The graph below shows the joint PPF for Alexis and Mario who produce computer
codes and app ideas. You are told that the opportunity cost for Alexis of producing
one unit of computer codes (C) is 3 app ideas (A).

Production of

Computer
Code JOINT PPF

Graph is not drawn to scale
100

80 — c—

60 90 Production of
Apps

Given this information and holding everything else constant, which of the following
statements is true?

I. Mario's PPF can be written as C = 80 — (8/3)A.

II. Mario has the comparative advantage in the production of computer codes.
III. Alexis has the absolute advantage in the production of app ideas.

IV. Alexis' PPF can be written as A = 100 — (1/3)C.

Statements I and II are true.
Statements I, II and III are true.
Statements II and IV are true.
Statements I, III and IV are true.

aoc o



15) Suppose that the PPF for an economy changes from graph A to graph B. Which of the
following statements offer the best explanation for this change?

Milk] Milk]

Bread Bread
A B

a. Foot-and-mouth disease, a severe and highly contagious viral disease among
cows, spreads extensively and many cows die as a result.

b. Animal scientists at University of Wisconsin find a new technology to increase
milk production.

c. During the growing season there is an infestation of locusts and these locusts
severely damage many grain crops.

d. People develop a taste for rice and now consume less bread.



16) Mark can produce cool ideas (I) or excellent cakes (C). He takes 6 hours to produce a
cool idea and 2 hours to produce 30 cakes. A day of work for Mark has 12 hours.
Given this information and holding everything else constant, which of the following
statements is true?

In a single day if Mark produces 1.5 ideas, then he can produce 100 cakes.
Mark’s opportunity cost of producing an additional cake is 2 ideas.
Mark’s opportunity cost of producing an additional cake is 1/30 ideas.
Mark’s opportunity cost of producing an additional idea is 90 cakes.

ac oe

17) John lives in the Caribbean. He spends his time reading books and writing novels.
Suppose it takes John 2 years to produce a book and it takes John 3 months to read a
book. John has three years of time to live in his Caribbean paradise before he has to
return to his usual business of engaging in economic research. Once he is back to
economic research he will have no time to write books or read books. Given this
information and holding everything else constant, which of the following statements
is true?

a. If John writes 1.25 books, then he can still read 10 books during his time in the
Caribbean.

b. John’s opportunity cost of writing one book is 8 books read.

c. If John reads 6 books while in the Caribbean, he will still be able to write 80% of
a novel.

d. If John writes a novel while in the Caribbean, he will still be able to read 4.5
books.

10



18) Which of the following statements is true?

a. If immigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, these
changes will result in a decrease in the equilibrium price in the market and an
indeterminate effect on the equilibrium quantity in the market.

b. If immigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, these
changes will result in an increase in the equilibrium price in the market and an
indeterminate effect on the equilibrium quantity in the market.

c. If immigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, these
changes will result in a decrease in the equilibrium quantity in the market and an
indeterminate effect on the equilibrium price in the market.

d. If immigration laws grow more stringent this will result in a decrease in the
number of immigrants in the United States. It will also result in a reduction in the
number of workers in the United States. In a given market for good X, these
changes will result in an increase in the equilibrium quantity in the market and an
indeterminate effect on the equilibrium price in the market.

19) Beer and wine are substitutes. Because of severe draught, the supply of wine was
hugely affected. Given this information, in which of the following scenarios will the
change in the equilibrium quantity of beer be ambiguous?

a. The price of barley, an essential ingredient in beer, has fallen greatly, reducing the
cost of producing beer greatly.

b. Researchers discover that drinking a cup of beer everyday reduces the possibility
of cardiac diseases by 31%, and the public believes this discovery.

c. Workers working at beer companies recently went on strike and successfully
demanded higher wages.

d. Beer companies expect the price of beer to fall.

11



Use the following information to answer the next three (3) questions.

Consider the production possibilities in Canada, USA, and Mexico in the table below.
The entries in the table show the maximum amount of the product the country can
produce using all their resources, technology and time to the production of the good.

All three countries are assumed to have linear production possibility frontiers.

Units of Food Computers
Canada 400 400
Mexico 500 200
USA 800 600

20) Given the above information and holding everything else constant, which of the
following statements is correct?

aoc o

Canada has absolute advantage in the production of computers.

Mexico has comparative advantage in the production of food.

USA has comparative advantage in the production of computers.

USA has a smaller opportunity cost in the production of computers than
Canada.

21) In 1994 all three countries joined the North American Free Trade Agreement
(NAFTA), and that meant they could now freely trade any goods and services.
Suppose that the USA decides to import some computers and export some food.
Given this information, which of the following is a possible trading price for a
computer in terms of food?

ac oe

One computer trades for 3/4 units of food.
One computer trades for 1 unit of food.
One computer trades for 2 units of food.
One computer trades for 3 units of food.

22) Suppose that the USA decides to quit the North American Free Trade Agreement
(NAFTA), and only Canada and Mexico are left in the trade agreement. Given this
information and holding everything else constant, which of the following statements

is correct?
a. There are two kink points in the joint PPF of Canada and Mexico.
b. The maximum trading price for one computer is 4/3 units of food.
c. The USA will be able to consume more units of food and computers now that
they have left the trade agreement.
d. Canada and Mexico cannot consume as much as they used to when the trade

agreement was in place.

12



Use the following information to answer the next two (2) questions.

Assume that there are only four consumers of computer chips in the economy. The
equations below provide the individual demand curves for computer chips for these
four consumers where P is the price per computer chip and q is the quantity of chips
demanded by the specific individual:

Sam: P =20-2q
John: P=20—-q
Dan: P=10—-q
Kim: P=10-2q

23) How many statements about the market demand inside the box are correct?

e The market demand for computer chips is 3 when the price of computer chips is 18.
e When 10 < P < 20, the slope of the market demand curve is -1.5.

e When 0 < P < 10, the slope of the market demand curve is -1/3.

The x-intercept of the market demand curve is 60.

One statement is true.
Two statements are true.
Three statements are true.
Four statements are true.

ac oe

24) Now, suppose the market supply curve goes through the origin and the kink of the
market demand curve that you derived in the last question. Assume there are only two
identical firms producing computer chips in the economy. Given the above
information and holding everything else constant, what is the slope of each
individual firm’s supply curve?

a. 2/3
b. 4/3
c. 32
d. 3/4

14



25) The table below depicts average earnings and earnings inequality - measured by a
Gini Index - on earnings, for Greece, Norway and the United States. Inequality is
measured in ascending form by the index: that is, a low Gini Index number (close to
zero) for a country represents lower income inequality while a high Gini Index
number (close to one) for a country represents higher income inequality.

Average hourly Earnings
Country Age earnings inequality
(in US Dollars) (Gini Index)

15-29 8.27 0.17
Greece 30-49 12.57 0.17
50-64 13.34 0.17
15-29 21.69 0.12
Norway 30-49 33.25 0.12
50-64 35.05 0.12
15-29 17.88 0.35
United States 30-49 28.79 0.35
50-64 30.22 0.35

[Data Source: OECD Stat]

Based on the information given, it is correct to say that:

a. The inequality of earnings in the United States is less than 200% of the inequality
of earnings of Greece and more than 300% of the Norwegian one.

b. The earnings of the Greeks in the range 50-64 years of age is slightly more than
30% of the Norwegian in the same threshold and the Norwegian inequality of
earnings in the same age range is less than 30% of the North American one.

c. Greeks in all three age ranges earn less than 50% of the wages of the Americans
in the same category but the level of American income inequality as measured by
the Gini Index number is more than 100% that of the Greeks.

d. Norway is the country that has the lowest level of income equality as measured by
the Gini Index number amongst the three nations.
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Use the following information to answer the next three (3) questions.

The demand and supply equations for eggplants are given by the following equations,
where Q is the quantity measured in pounds and P is price per pound:

Demand for eggplant: P =20 - Q
Supply for eggplant: P =2 + 2Q

The government intends to interfere in the market with a price support or price
guarantee program. The cost to the government of storing eggplants that are not
purchased in the market by consumers is $2 per pound of eggplant.

26) Suppose the government implements a price support program and sets the price
support price at $16 per pound of eggplant. The cost to the government for this
program including storage costs is and the producer surplus after the
implementation of the price support program is

a. $48; $49
b. $54; $49
c. $32;%36
d. $49; $48

27) Now suppose the government wants to replace the price support program with a price
guarantee program or subsidy program that costs a similar amount as the price
support program from the previous question. Which of the following subsidy amounts
per pound of eggplant results in the government cost of the price guarantee program
being closest to the cost to the government of the price support program?

a. $4 per pound of eggplant
b. $6 per pound of eggplant
c. $8 per pound of eggplant
d. $10 per pound of eggplant

28) In comparing the consumer and producer surplus of the price support and price
guarantee program in the previous two questions, which of the following statements
is true regarding the consumer and producer surpluses?

a. The price support program has a bigger consumer surplus, the price guarantee
program has a bigger producer surplus.

b. The price support program has a bigger producer surplus, the price guarantee
program has a bigger consumer surplus.

c. The price guarantee program has a bigger consumer and producer surplus.

d. There is no consumer surplus in the price guarantee program.

16



Use the following information to answer the next three (3) questions.

Consider the market for gasoline. The supply and demand curves, measured in gallons,
are represented by the following equations:

Supply for Gasoline: Q = 4P
Demand for Gasoline: Q =200 — P

29) Suppose the government implements a price ceiling of $20 per gallon of gasoline in
this market. What is the deadweight loss arising from the implementation of this price

ceiling?
a. $3,000
b. $4,000
c. $5,000
d. $6,000
30) The value of consumer surplus after implementing this price ceiling is . Of the

original producer surplus, after the implementation of the price ceiling, .

$3,200; $1,600 is lost to deadweight loss

$14,400; $2,800 is lost to deadweight loss or "captured" by consumers
$3,200; the new producer surplus is now $800

$1,600 less than the initial value of consumer surplus; $1,600 is "captured" by
consumers

ac oe

31) The government wants to understand how the implementation of this price ceiling
impacts the total surplus in the market. What is the net change in total surplus (that is,
what is the difference between the TS without the price ceiling minus the TS with the
price ceiling) after the implementation of this government policy?

TS decreases by $4,000
TS increases by $4,000
TS decreases by $8,000
TS increases by $8,000

ac oe
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32) One of the graphs below shows the market demand and supply curves for yogurt. All
supply curves in the graphs below have a slope of two. Given the information in the
box, which graph would correctly specify the yogurt demand and supply curves?

e AtP =11, there is an excess demand for yogurt.
e At P =16, there is an excess supply of yogurt.
e The equilibrium quantity is above 3.

a b.
P p
s
S 20
20
10 10
D
D
10 Q 20
c d.
p P s
s
20
20
D
10
Q 20
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Answer Keys

b

2)a

3a

4)b

5)b

6)b

7 b

8)b

9)a

10) a
11)a
12)b
13) ¢
14)b
15)¢
16)d
17)b
18) ¢
19) ¢
20) b
21)b
22)d
23)b
24) b
25) ¢
26) b
27)b
28) ¢
29)b
30)d
31)a
32)d
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